H & 0l & AHS B Ml A

SM KIS A
M THer2te]

Rl SSIHEE 2t EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
NI 3] H 9,940,216 2,628,216 7,312,000

= 67,017 67,017 0
= 9,873,199 2,561,199 7,312,000
Matzte| 9,287,177 1,975,177 7,312,000
SSMat 22 410,522 360,522 50,000
SHMat2e 63,620 13,620 50,000
401 AlZBIL S THYI 50,000 0 50,000
01 AlZHI 50,000 0 50,000
oBR(LENIHA AEHEAL 2
50,000,000 50,000 0 50,000
EArzel 8,876,655 1,614,655 7,262,000
A X2l 1,351,323 1,321,323 30,000
405 AtatE = 60,000 30,000 30,000
01 ML ESFSHI 60,000 30,000 30,000
oEARIT HIS 78
& 5,000,0002 %102 A 50,000 20,000 30,000
S AL 213D 125,000 75,000 50,000
401 AlZBIL S THYI 125,000 75,000 50,000
01 AlZHI 125,000 75,000 50,000
oA =2 AIEES 2+ M
Z& 110,000,000& 110,000 60,000 50,000
SY FAtzel 248,500 66,500 182,000
401 AlEBIYL S THYI 204,500 55,500 149,000
01 AlZHI 204,000 55,000 149,000
ot HSIMHE LAt
50,000,000 50,000 0 50,000
o NE HESXHEH E43A
19,000,000 19,000 0 19,000
oS HYSIME USHA 2T A
30,000,000 30,000 0 30,000
o=5tH HHSXHEH L3 At
50,000,000 50,000 0 50,000
405 THHF S 44,000 11,000 33,000
01 Tt =S F=H 44,000 11,000 33,000
o5 - HMIZXHE =& MRHS S 7
g 3 4,000,0008x115H 44,000 11,000 33,000
3| EAF &= 7,151,832 151,832 7,000,000
401 Al&BIL S THYI 7,151,832 151,832 7,000,000
01 Al£ZHI 5,641,832 151,832 5,490,000
S2IB AL AIF SAHI
5,490,000,000& 5,490,000 0 5,490,000
02 2eld| 1,500,000 1,500,000
C2I3 A HEAIH 2RI BS
1,500,000,000& 1,500,000 0 1,500,000
03 Al 20HHI 10,000 10,000
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SA: A2
A THakae )
Rl A2 (SH9 H2)
SN - FH - G(EH) - NRAY - BAS 0 &t N E o HimE==T
S2IB AL AIE U 10,000,000& 10,000 10,000
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